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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BfiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS R

06:50 273 150.0 2. 583 5| FEAQ06:50 KENFEFE (RAfEEE)
07:20 273 150.0 2.583 5| FEAe07:20 KEIEFE CGRAFESE)
08:10 273 150.0 2.583 BR[| hHR@08:10 KRFIEHF (KAL)
09:00 273 150.0 2.583 FH| FnHA@09:00 KRFFEF (RAERER)
09:40 273 150.0 2.583 FH| FiHA@09:40 KREFEF (KAFERE)
10:15 273 150.0 2.583 FA| hHR@10:15 KRHAMIEHF (RALER)
10:45 273 150.0 2.583 FR| FHA@10:45 KRENFZF (KRFAEES)
11:15 273 150.0 2.583 FR| FHA@11:15 REIZF (RAERES)
11:45 273 150. 0 2.583 FH| FnHR@11:45 KRENFRZF (REAERE)
12:15 273 150.0 2.583 P FmBR@12:15 KRENFIERF (GREERSE)
12:45 273 150.0 2. 583 FR| FhHA@12:45 REIZF (RAEEHS)
13:15 273 150.0 2.583 P FiHB@13:15 KEFEF (GRAAEREE)
13:45 273 150.0 2.583 FA| FnHA@13:45 KREIEF (KRAEHS)
14:15 273 150.0 2. 583 FR| FhHA@14:15 KREIZF (RAERES)
14:45 273 150.0 2.583 FA| FnHR@14:45 KRFEF (KAERKSE)
15:15 273 150.0 2.583 FA| FHAe15:15 KREFEF (RAEHS)
15:45 273 150.0 2. 583 FR| FhHA@15:45 KREFZF (KRAEES)
16:20 273 150.0 2.583 FA| hHA@16:20 KRENFZEF (RAA{EEE)
17:00 273 150. 0 2.583 FA| FhHR@17:00 KREIEHF (RALESR)
2it]5187.0 (190%) 2850.0 3 HKEC: 2080.0, PH: 5.6
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[E;&REC 5840.0 K5, EiNF{KECAE&M%ER
#H[EKECE (1773.0 vs 5840.0) 15
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P3-6

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

08:15 273 150.0 2.583 = {RRiB008:15 Bz (RFAEEE)
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13:10 273 150.0 2. 583 Sl {Rige13:10 B3 (RAERSE)
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16:25 273 150.0 2.583 E BRige16:25 Bz (GRAERESE)
17:25 273 150.0 2.583 =l 1Rige17:25 B3 (RAERSE)
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26.

25.

T T
800 1000

m=585,m FV0=0

T
600

—o— M_E

7

560 565
m=725,n FV0=0

—0— ME

750 7é5
m=865,n FV0=0

-o— M_E

i
il

870 875

25.

25.

24.

24

26.

26.

26.

26.

25.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

m=455, FV0=0
5] —@— ME
0 .
5 -
0 .
455 460 465
m=620,m FV0=0
—o— ME
6 .
4 .
2 .
0 .
8 .
620 625 630
m=755,m FV0=0
87 —o— ME
6 .
4 .
2 .
0 .
755 760 765
m=900,m FV0=0
81 —o— ME
6 .
4 .
2 .
0 .

900 905 910

26

26

26

25

25

25

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

25.

m=495, FV0=0

41

.24

.0+

.8

.61

41

M_E

560 565
m=655,n FV0=0

70

65

60 -

55 A

50 -

45 ~

40 -

—o— ME

657.5

T T T
662.5 665.0 667.5

m=785,m FV0=0

T
660.0

—o— ME

i

750 7é5
m=945,n FV0=0

-o— M_E

945 950 955

26.

26.

26.

26.

25.

26.

26.

26.

26.

25.

26.

26.

26.

26.

26.

25.

27.

26.

26.

26.

26.

m=540, FV0=0
—o— ME
6 .
4 .
2 .
0 .
8 .
540 545 550
m=690,m FV0=0
—o— ME
6 .
4 .
2 .
0 .
8 .
6€|)0 eés 760
m=830,m FV0=0
81 —o— ME
6 .
4 .
2 .
0 .
8 .
830 835 840
m=985,m FV0=0
01 —o— ME
8 .
6 .
4 .
2 .

985 990 995




27.

26.

26.

26.

46.

45.

45.

44.

47.

47.

47.

47.

47.

46.

48.

48.

48.

48.

48.

47.

m=1040, FV0=0

—o— MNE
0_
8_
6_
4 -
T T T
1040 1045 1050
m=540,m FV0=0
0 4 —— M_W
5_
0_
5_
T T T
540 545 550
m=690,m FV0=0
87 —o— MW
6_
4_
2_
0_
8_
690 695 700
m=830,m FV0=0
—o— MW
8_
6_
4_
2_
0_
8_
830 835 840

46.

46.

46.

45.

45.

45.

48.

47.

47.

47.

47.

47.

49.

49.

48.

48.

48.

48.

T T
800 1000

m=585,m FV0=0

T
600

M_W

5é0 565
m=725,n FV0=0

750 7é5
m=865,n FV0=0

725

-— M

|
ﬁ
E- [=2] (] o N E=N o
I I I I I I

865 870 875

m=455, FV0=0
—0— MW
43.5 A
43.0 +
42.5 ~
T T T
455 460 465
m=620,m FV0=0
47. 25
—0— MW
47.00
46.75
46. 50
46. 25
46. 00
T T T
620 625 630
m=755,m FV0=0
—0— MW
48. 4
48.2
48. 0 A
47.8 +
47.6
755 760 765
m=900,m FV0=0
49. 4 + —— MW
49. 2 +
49. 0 H
48. 8
48. 6
48. 4

900 905 910

m=495, FV0=0

M_w

45. 00 - -

44.75 A

44.50 -

44.25 A

44.00

43.75 A

47.

47.

47.

47.

46.

48.

48.

48.

48.

48.

49.

49.

49.

49.

48.

48.

48.

560 565
m=655,n FV0=0

8_

T T T
662.5 665.0 667.5

m=785,m FV0=0

T
657.5 660.0

8_

—o— MW

6_

760 755
m=945,n FV0=0

785

1T —e— mw

945 950 955



m=985, FV0=0

49. 8

49.6

49. 4

49. 2 -

49.0 -

48. 8

—o—

M_Ww

985

T
990

T
995

50. 0 A

49. 8 A

49.6 -

49. 4

49. 2 -

49.0 A

m=1040, FVO=0

—o—

MW

T
1040

T
1045

T
1050
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P3-6

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:50 300 150.0 2.583 S| {Ri%@06:50 F iz (KRAMERSE)
07:35 300 150. 0 2.583 E  BRi&e07:35 Fa1 (RAERERE)
08:45 300 150.0 2.583 5| {Ri%@08:45 F 3 (FAAERSE)
09:40 300 150.0 2.583 S {Ri%@09:40 Fzh (KRAERSE)
10:30 300 150. 0 2.583 E BRi%e10:30 Fz1 GRAERERE)
11:15 300 150.0 2.583 S Ri%e11:15 Fzh (GRAERSE)
11:55 300 150.0 2.583 = RRiB@11:55 Fz (RFEAKEEE)
12:40 300 150. 0 2.583 E BRige12:40 Fz1 CGRAERESE)
13:25 300 150.0 2.583 5| {Ri%e13:25 F (RAERSE)
14:05 300 150.0 2.583 = RRiB@14:05 Fz (RFAEEE)
14:50 300 150. 0 2.583 E BRige14:50 Fz1 CGRAERESE)
15:40 300 150. 0 2.583 El BRi&e15:40 Fzh CGRAEREE)
16:25 300 150.0 2.583 = RRiB016:25 Fz (RFAKEEE)
=23t 3900.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

RE X i [B] TRECHUR SR oK.

[El;&EC 6225.0 K5, EiFAKECAE & imiERR
#[EKECZE (1860.0 vs 6225.0) 15
REXREBT I HEREC/PHE R K, FIREZINIRAELR R



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=66 (2025-06-03)

ET (ml/hr/plant)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f——— - f———_—]
VI, V@FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1984 | 009
1700 728
575 =
100 1 1300 (1394 L 1500 4
E
- 1000 ~
50 =
- 500
Warning: lcol [FVI',| "FVO’'] missing
0 0
0 -0
(S — ME £30
200 FRV maxM
100 A
- 24
o I P L1 I i b N BB
1
0. 8 A
0.6 -
0.4
0.2+
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4
0.2+
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 t
0.6 -
0.4
0.2+
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 - 3000
Bylni‘t:@D68 01:51: ET=1578 Fg=1650. 0 Ro=268.0 t —
300 ~ 2
- 2000 =
<
200 ~ E
L 1000 =
100 ~ §
07 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 8000
== E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES
300 R | A5 [ B | B | AR | A5 | A5 [ R | R [ HR B B B B B B B B B B B B B B )
. ] [=
ByEt @D66 19:07: ET=1767 Fg=1728. 0 Ro=nan 1 - 2000 %_
<
200 ~ E
L 1000 =
100 ~ §
o —&—0 66—
A& __&a _&a__o&
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 8000
== E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES
300 R | A5 [ B | B | AR | A5 | A5 [ R | R [ HR B B B | A | B B B B B B B B B B )
J | 2
. . —_ - p— ©
ByWon:@DGS 01:51: ET=1575 Fg=1950.0 Ro=413.0 8 t—$ - 2000 E_
200 ~ 1 =
I ~—
1
- 1000
100 - I i
I 3
o —I0—O 66—
] N P e S T
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
osl M5 | A | BF |5 |5 [BE | f5 [ B [ HR | A B 5 | BB | BB | B 5 5 5 B 5 5 5 B 5
0.6 -
0.4
0.2+
0.0
—_— 4
1500 ~ o | _obs
—@— PPFD obs
1000
500

W.“‘“A e v f




m=435, FV0=0 m=530, FV0=0 m=585, FV0=0

26. 75 A 26. 75 A

21.01 o WE 26.8 ~ —o— ME —e— ME - ME
26. 6 26. 50 - 26. 50 A
26.5 - i
: , By L t t E 26.4 26. 25 26. 25 -
! 26.2 1 26.00 - 26.00 -
26.07 l & & & 26.0 -
. 1 4 4 3 & 25. 75 - 25. 75 -
d 1 1 25 8 N
25 5 1 & ' : 25. 50 - 25. 50 -
25. 6
T T T T T T T T T T T T T
400 600 800 1000 435 440 445 530 535 540 585 590 595
m=635,m FV0=0 m=680,m FV0=0 m=720,m FV0=0 m=765,m FV0=0
26. 75 -
o— wE | 2687 o— me | 2687 o— wE | 2687
26.50 26. 6 26. 6 4 26. 6
26. 25 26.4 4 26. 4 - 26. 4
26. 00 26.2 7 26, - 26.2
26.0 26.0
25. 75 - 26.0
25. 8 25.8
25. 50 - 25. 8
25. 6 25.6 - ME
T T T T T T T T T T T T
635 640 645 680 685 690 720 725 730 765 770 775
m=815,m FV0=0 m=865,m FV0=0 m=915,m FV0=0 m=970,m FV0=0
26. 8 26.81 o wE 280 o— wE | 2700 o MNE
26. 6 26. 6 27 5 4 26. 75 -
26. 4 26. 4
27.0 26. 50 -
26. 2 26.2 - o—0o—0o 00— 00
26.5 26. 25 -
26.0 26.0
26.0 26. 00
25.8 25. 8
—-o— 25.5 i
25. 6 ME 1 256 25.15
815 820 825 865 870 875 922 924 926 928 970 975 980
m m=435,m FV0=0 m=530,m FV0=0 m=585,m FV0=0
4357 o wu —— MW 44.75 4 —@— MW
44, 25
42.5 -
42.0 A 43.75
43.0 - 43. 50 A
41.5 4
T T T T T T T T T T 43 25 B T T T
400 600 800 1000 435 440 445 530 535 540 585 590 595



45.

44.

44

44,

44,

43.

46.

45.

45.

45.

45.

44,

44.

m=635, FV0=0

00 A

75

50 -

25 -

00 ~

75

—0—

MW

T
635

640 6&5
m=815,n FV0=0

00 ~

75

50 -

25 A

00 -

75 1

50 A

—0—

M_W

T
815

T
820 825

45.

45.

44,

44,

44.

44,

43.

46.

46.

45.

45.

45.

45.

44.

m=680, FV0=0

25 A

00 -

75 -

50

25

00 -

75 A

—— MW

T
680

6é5 6é0
m=865,n FV0=0

25 A

00 -

75 -

50 A

25 H

00 -

75 -

—— MW

T
865

T
870 875

45.

45.

45.

44,

44,

44.

46.

46.

46.

46.

46.

m=720, FV0=0

50 A

25 A

00 -

75 -

50 A

25 A

—— MW

T
720

7é5 750
m=915,n FV0=0

70

65

60

55 -

50 A

—0— MW

T
922

T
924

T
926
m

T
928

m=765, FV0=0

45.75 A

45. 50

45. 25 A

45. 00 A

44.75 A

44.50 A

—0—

M_w

T
765

7%0 7;5
m=970,n FV0=0

47.0 A

46.5

46.0

45.5 -

—o—

M_w

T
970

T
975 980
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P3-6

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:55 273 150. 0 2.583 |Z=| {Ri&e06:55 Bz (REEHSE)
07:35 273 150.0 2.583 = {RRiB007:35 B (RFAEEE)
08:35 273 150. 0 2.583 E|  {Rig@08:35 Bah (RE{ERSE)
09:20 273 150.0 2.583 5| {Ri%@09:20 B3 (FAERSE)
10:00 273 150.0 2.583 =l RRi80@10:00 Bz (RFAKEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:25 273 150. 0 2.583 =l Rige11:25 Bz (GRAEESE)
12:15 273 150.0 2.583 =l {Rige12:15 B3 (RAERSE)
12:50 273 150. 0 2.583 =l RRiB012:50 B (REAKEE)
13:20 273 150.0 2.583 (£=| {Ri%e13:20 Bz (REAEDSE)
13:50 273 150.0 2.583 (Z=| {Ri%@13:50 Bz (FRAEHRSE)
14:20 273 150. 0 2.583 |Z=| {Ri&e14:20 Bz (REEZEBE)
14:50 273 150. 0 2.583 |Z=| BRige14:50 Bz (GRAERESE)
15:30 273 150.0 2.583 (Z=| {Ri%@15:30 Bz (RAEHSE)
16:10 273 150. 0 2.583 | =| {Ri%e16:10 Bz (REZBE)
17:00 273 150.0 2.583 |Z=| {Ri&e17:00 Bz (REEZEBE)
Bit] 4368.0 (167%) 2400. 0 3203 KEC: 2080.0, PH: 5.6

R ERRETC (600) 57 EA (268. 0) 14, FIREH T % AREERS %2 X ER
2RI\ L PRIERE336. 0 ml.

[E;&%EC 5960.0 K&, ZEiFHKECAE&IMEER

HEEIRECZE (1907.0 vs 5960. 0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=65 (2025-06-02)

Bf————f————Ff————f—— ———— — ]
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET 193;‘7942— 2000
100 1300 - 1500
F 1000 ~—
50 4610 70d64 >
- 500 “-
142 Warning: lcol [FVI',| "FVO’'] missing 0
0 + -0
(v — ME $30
400 1 FRV maxM
- 28
I-ul
_262
L 24
22
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 Bylnit:@D68 01:52: ET=1433 Fg=1800. 0 Ro=244.0 ?3000,\
£
o
200 + - 2000 >
E
'—
100 - L 1000 &
>
[&]
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
301 M |1 2= |25 |2=|(25| B | B[ B | B i 5 5 5 i 5 5 5 | BB | BB 5 5 5 5 | 3000 -
1 C
ByEt @D65 19:23: ET=1937 Fg=1338. 0 Ro=nan 1 2
J /\ —& —O L 0000 <
200 1 =
I ~—
//'1/ - o—o1—o6—o—o—o —
100 - ! L 1000 &
) 1 3
0 - P P || 1 E— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
301 M |1 2= | 2525 |2=|25 (x| B[ B | B i 5 EEREREREREEEEARS 5 | =] B 5 & I 3000
1 c
ByWon:@D68 01:52: ET=1942 Fg=2400.0 Ro=520.0 ® ® ® %
200 A i —&—9—9 | 000>
1 E
! —
100 4 : L 1000 &
>
1 o
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0sl B |ZE|ZTR| ST |25 (3|5 (B [ BB | B i 5 EEREREREREEEEARS B |[Z=| B i 5
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1500 - ( ] | _obs
—@— PPFD obs
1000 +
500 -
RH
404 @ RH_obs
(] RHo_obs
¢ M e v f



24.

24,

24,

23.

23.

23.

24,

24,

24,

24,

23.

23.

26 -

M_E

T T T
800 1000 1200

m=720,m FV0=0

T
600

50 A

25 A

00 ~

75

50 A

25 -

—o— M_E

it
=

7é5 750
m=960,n FV0=0

720

75 A

50 A

25 A

00 ~

75

50 -

—o— M_E )

965 9%0
m=520,n FV0=0

45. 2 -

45.0

44.8

44.6 -

44. 4 -

44.2 -

23.

23.

23.

23.

23.

244 -

24.2 -

24.0 A

23.

23.

23.

23.

23.

23.

23.

23.

23.

46.

45.

45.

45.

45.

44.

60 -

58 -

56

54 -

52 A

50 -

00 -

75 -

50

25 -

00 -

75 A

m=520, FV0=0

M_E

T T
520 525 530

m=780,m FV0=0

—o— ME

7é5 7é0
m=1100m FV0=0

—o— M_E

i
i

1165 11H0
m=555,m FV0=0

1100

-o— MW

it
i

555 560 565

m=535, FV0=0

25. 00 A

24.75 A

24. 50 A

24. 25 A

24. 00 A

23.75 A

M_E

T T
555 560 565

m=840,m FV0=0

24.4

24.2 -

24.0 -

23.

23.

23.

23.

—o— M_E

T T
840 845 850

m=1165m FVO=0

26.0
25.5
25.0 -
24.5 -
24.0 -

23.5 -

—o— ME

1165

1130 1135
m=660,n FV0=0

42.

42.

42.

42.

41.

1[/

24,

24

23.

23.

23.

23.

22.

24.

24,

23.

23.

23.

23.

42.

42.

42.

42.

41.

m=660, FV0=0

25 A

00 -

75 -

50

25 A

00 -

75 -

M_E

T T
660 665 670

m=905,m FV0=0

25 A

00 -

75 A

50

25

00 -

—o— M_E

915

46 -

44 -

42

40 -

38 A

36

M_W

800 1000 1200

m=720,m FV0=0

600

-o— MW

720 725 730




m=780, FV0=0

42.0 -

41.8 -

41.6

41.4

41.2 -

—o—

M_W

T
780

7é5
m=1100m FV0=0

T
790

38. 50 A

38. 45

38. 40 ~

38. 35

38. 30 A

—— MW

T
1100

T
1105

T
1110

41.

40.

40.

40.

40.

40.

40.

39.

39.

38.

38.

37.

m=840, FV0=0

—— MW

T
840

8&5 860
m=1165n FV0=0

1T —e— mw

T
1165

T T
1170 1175

m=905, FV0=0

40.0

39.9 A

39. 8 -

39.7 A

39.6 -

39.5 A

—o—

MW

905

T
910 915

m=960, FV0=0
—— MW
40. 0 -
39. 8 -
39. 6
39. 4 -
T T T
960 965 970




hour
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:10 -

15 -
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P3-6

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

08:40 273 150.0 2.583 Z| {Ri%e08:40 B (KREAEZHE)
09:35 273 150. 0 2.583 [ =| 1Rige09:35 Bz (KAFERHE)
10:25 273 150. 0 2.583 (£=| {Ri%e10:25 Bz (REAEDSE)
11:15 273 150.0 2.583 FR| {Ri&e11:15 Bz CGRAEEE)
12:05 273 150. 0 2.583 FH| 1Ri&e12:05 Bz (REAERSE)
13:00 273 150. 0 2.583 FH| 1Ri&@13:00 B (RFAERESE)
14:20 273 150.0 2.583 FA| {Ri&@14:20 Bz CGRAEEE)
15:40 273 150. 0 2.583 FE| 1Ri%e15:40 Bz (REAERSE)
2it]2184.0 (8%) 1200. 0 3283 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (447:132.0), set to 447 ml.
[2]/&REC 6037.0 K&, EiUAKECHAIMIAER
BE[EIKRECE (2007. 0 vs 6037.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=64 (2025-06-01)

LR S e et
1\2140 Vvir¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 A

50

200 4
150 -
100 -

50 A

89

"FVO' ] missing

Warning: lcol ['FVI’,

- 1500

892 1000

- 500

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0
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